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BET 1 8]
12. AREIR
BHETL | MUE1500H 1 & A
13. AE IR
WAL | FUZE1500F 1 & Fr
14. =05
FIET | v=7/4x1500°x3.249— 71 /4 X 1.110° X (0.130+0.063)
— 71 /4 % 1.050° X (3.249-0.130~-0.063) — 71 /4 X 0.216% X 0.225 X 1 290 md
15 E AR EE | n=(T1+T2+T3+T4+T5)/8(h)
-HERERK TI=#WEERERE= = 1.4
T2 =[f ABEMIE A BFEI=4EHIE X 1m 3 Y fE TR
= 0.750 X 0.9
+ 4.889 X 0.8 = 4.6
T3=h-YU) AR = AEER X 0.1
= 4.7 X 1 X 0.1 = 0.5
T4=|xK#1,))-MTREE=K&1,))-I= x 0.2
= 1.8 X 0.2 = 0.4
T5=h-Yu) 5| EIFBE=4-Y) 5| EIFR X 05
= 0.9 X 0.5 = 0.5
N LTS
n=XT/8= 74 / 8 = 0.9 0 =]




2]

WMur— =K

NOAI-1TEELInT T ®2.00
HhAE R ThEES ELRET
1.3 i1 & 5.430 — 0.634 0.553 =| 5349 m
(EfZCoET)
SR ERE AsShEEE
2. & Bl F 5.349 + 1.000 0.110 =| 6239 m
(EAEHEALD) | BEL Fhtet
0750 + 5489 =| 6239 m
SEERLI R
(BER) (1.50-0.46)
MR BERLE
& {K 2024 2 x w/4 1.040 335 m°
JET,Y: BERLE
Wk | 1050 2 x w4 1.040 090 m°
245 m3 25 m°
4. BrusT
F458 MR TEHIR
2024 2 x w/4 6.239 =] 20.1 mS
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MAT— TR
NOA-1EFHET I+ T $2.00
1/2
] TREES ERET
1.3 1 5430 — 0634 + 0553 5349 m
(JERZECoE )
SR ERES AsShEEE
2. & Bl F 5.349 + 1.000 — 0.110 6239 m
(EAEAHIFEIAT)
YEHIIE BANE
3.F A & 6239 +  0.200 6439 m
IR ERvIE BIRE
4. r— 45K | 5349 + 0300 —  0.049 5600 m
(10cmEi{3)
[ %EEYy—2% 300 m
U s#&r—04 260 m
SBE—I VT A%k
B E 20007 L
5. 5—>04 | 1BmLYSERES
BEI | L=n x2.0056.3m 1 Em
6. r—oY I EFEE
5|EIFIT | L=0.90m 0.90 m
7. =08 r—I VTR
BWET | L=7m x2.00(FFUE)+1.45103FE) X 4=12.1m 1 AT
29597 1.451m % 0.615t/m 0.892 t
8. [EhRavy)—-+
ITERT | 1B YFERE V=3.1m3 310 md
9. 5hiK kspav o) —MTERES)
Bk T 1 E31
10. RS54 L (KepaL Y —hTERES)
WMET | 1BRRYLSE V=1.2m° 1 &P
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WEr—2 oK
NOAI-1TEFEEILHILT ¢ 2.00
2/2
1. BEWERE
BET 1 [a]
12. AREIR
BHETL | MUE2000MH 1 & A
13. AE IR
WET | MFUE2000M 1 & Fr
14. =05
FIET | v=7/4x2000°x3.849— 71 /4 X 1.110° X (0.130+0.263)
— /4 % 1.050° X (3.849-0.130-0.263)— 71 /4 X 0.216% X 0.475 X 3
—0.400 X 0.475 X 2.432 820 m?
BT
15 E AR EE | n=(T1+T2+T3+T4+T5)/8(h)
-HERERK TI=#WEERERE= = 1.4
T2 =[f ABEMIE A BFEI=4EHIE X 1m 3 Y fE TR
= 0.750 X 0.9
+ 5.489 X 0.8 = 5.1
T3=h-YU) BERE = A EER 0.2
= 6.3 X 1 X 0.1 = 0.6
T4=|xK#1,))-MTREE=K&1,))-I= x 0.2
= 3.1 X 0.2 = 0.6
T5=h-Yu) 5| EIFBE=4-V) 5| EIF R x0.7
= 0.9 X 0.5 = 0.5
INE R LU YIS
n=3>T/8= 82 / 8 = 1.0 1 Al
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WMur— =K

NO.43-2EZEiint T ¢ 1.50
HhAE R ThEES ELRET
1.3 i1 & 5.630 — 2.438 + 0.353 =| 3545 m
(EfECoET)
SR E&E AsEHEEE
2. & Bl F 3.545 + 1.000 — 0.190 =| 4355 m
(EAEHIFEALD) | BEL FhiEt
0600 + 3.755 =| 4355 m
.EBERLI R
(BER) (1.50-0.87)
SHAME BERLE
2 (K 1524 2 x w4 X 0.630 115 mS
AFLoMR BERLE
k=L | 1050 2 x w4 X 0.630 055 mS3
060 m? 0.6 mS
4. BrusT
F458 MR TEHIR
1524 2 x gw,/4 X 4.355 = 7.9 m3




Masr—> 05K
NO.43-2ME|ZE i+ T $1.50
1/2
HhiEE TheEES ERET
1.3 i1 & 5630 — 2438 4+  0.353 3545 m
(JERZECoE )
SR ERES AsShEEE
2. & Bl F 3.545 + 1.000 — 0.190 4355 m
(EAEAHIFEIAT)
bl BANE
3.F A & 4355 4+  0.200 4555 m
IR ERvIE BIRE
4. r— 45K | 3545 + 0300 —  0.045 3800 m
(10cmEi{3)
[ kEBEH—I24 200 m
{ hET— m
LU S8&7—2045 180 m
SBE—I VT A%k
FETNE 1500 1 &
5. 5—>04 | 1EFmLYSERES
BEI | L= x15054.7m 1 Em
6. r—oY I EFEE
5|EIFIT | L=0.90m 0.90 m
7. =08 r—I VTR
WETL | L= x1.50(FFUE)+1.455(1%) x 4=10.5m 1 &P
29597 1.455m X 0.466t/m 0.678 t
8. [EhRavy)—-+
ITERT | 1A YFERE V=1.8m3 180 m®
9. 5hiK kspav o) —MTERES)
Bk T 1 E31
10. RS54 L (KERav 49— TERES)
WMET | 1BRRYLSE V=0Tm" 1 Eliil
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WEr—2 oK
NO.43-2ME|ZEiI i+t T ¢ 1.50
2/2
1. BEWERE
BET 1 8]
12. AREIR
BHETL | MUE1500H 1 & A
13. AE IR
WAL | FUZE1500F 1 & Fr
14. =05
FIET | v=7/4x1500°x2.045— 71 /4 x 1.110° X (0.130+0.063)
— 71 /4 % 1.050° X (2.045-0.130-0.063)— 71 /4 X 0.216% X 0.225 X 2 1.81 m?®
15 E AR EE | n=(T1+T2+T3+T4+T5)/8(h)
-HERERK TI=#WEERERE= = 1.4
T2 =[f ABEMIE A BFEI=4EHIE X 1m 3 Y fE TR
= 0.600 X 0.9
+ 3.755 X 0.8 = 35
T3=h-YU) AR = AEER X 0.1
= 4.7 X 1 X 0.1 = 0.5
T4=|xK#1,))-MTREE=K&1,))-I= x 0.2
= 1.8 X 0.2 = 0.4
T5=h-Yu) 5| EIFBE=4-Y) 5| EIFR X 05
= 0.9 X 0.5 = 0.5
N LTS
n=XT /8= 6.3 / 8 = 0.8 0 =]
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A — R

NO44- 1 FHETInT T $2.00
] ThEES ELRET
1.3 i OF 5540  — 1577 + 0553 =| 4516 m
(Ef® CoE )
SR ERE AstBiEE
2.1 Hl & 4516 + 1000 —  0.190 =| 5326 m
(EAEHIEATL) | BEL gt
0600 + 4726 =| 5326 m
.EBERLIT BEE
(BEW™) (1.50-0.87)
SR BERLE
£ K 2024 %2 x w4 X 0.630 = 203 m°3
JET,Y: BERLE
Wik | 1050 2 x w4 X 0630 = 055 m°
£t 148 m° 15 mS
4. RS T
F45E SR TBHIE
2024 %2 x w4 X 5.326 = 17.1 mS
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s —o 5K
NO.44- 1 HETInT T $2.00
1/2
g ThEES EHRET
1.3 I F 5.540 — 1577 + 0.553 =| 4516 m
(ERECoET)
SR ERES AsSHEEE
2.1 Hl & 4516 + 1.000 — 0.190 =| 5326 m
(EAEHIFEAT)
TEHIE BANE
3.F A & 5326 + 0200 =| 5526 m
SR E#&597 R IR
4. 74— K| 4516 + 0300 — 0016 =| 4800 m
(10cmEifir)
[ %EEY—24 300 m
U B#&y—04 180 m
EEE— VT Ak
FEU £ 2000/ LB -
5 =25 IBEFRYYRBER
BET | L= X200%6.3m 1T E R
6. 54—y B LHEER
Bl|EFT | L=0.90m 0.90 m
7. 5= r—L U OIREE
WETL | L= x2.00(FfFUE)+1.484(1FE) x 4=12.2m 1 &l
29597 1.484m %x0.615t/m 0.913 t
8. EkRavyy-+
ITERT | 1EFrYYERZ V=3.1m3 310 m°
9. 5hik OKFav s —MTERE)
Bk T 1 &3
10. RS54 L (kepas Y — T ERES)
MET | 1#AALYLSE V=12m° 1 B
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My —2 R
NO.44-1TFHEINL T $2.00
2/2
1. BHEE
BWET (]
12. AEIR
RIET FEUME 2000/ k3
13. AREIR
AT | FFUZE2000MA & T
14. r—0%
FET | V=7/4x2000"x3.016— 71 /4% 1.110° X (0.130+0.263)
— 71/4 % 1.050° X (3.016-0.130-0.263)
— /4% 02162 X 0.475 X 2 m®
15 E ABEMREE | n=(T14+T24+T34+T44+T5)/8(h)
-BEERK TI =W E R ERRE= = 1.4
T2 =[F AW ARFR=EHIE X 1m 3 Y e T 85
= 0600 X 0.9
+ 4726 % 0.8 = 4.3
T3="-VU) B IERRE =B EER 0.2
= 6.3 X 1 X 0.1 = 0.6
T4 =[EHIY)-MTREHE =E#&I19)-I= x0.2
= 3.1 X 0.2 = 0.6
T5=h-yu9 5| EIFBRE=7-V 95| EIF R x0.7
= 0.9 X 0.5 = 0.5
IN R LT EE
n=3XT./8= 74 / 8 = 0.9 =]
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WMur— =K

NO.44-2f EZE i+ T ¢ 1.50
HhAE R ThEES ELRET
1.3 I 5580  — 1.344 4+ 0353 =| 4589 m
(EfZCoET)
SR ERE AsShEEE
2. & Bl F 4.589 + 1.000 — 0.190 =| 5399 m
(EAEHEALD) | BEL Fhtet
0600 + 4799 =| 5399 m
SEERLI R
(BER) (1.50-0.87)
MR BERLE
£ K 1524 2 x w4 X 0.630 115 mS
JET,Y: BERLE
Wk | 1050 2 x w4 X 0.630 055 m°3
060 m? 0.6 mS
4. BrusT
g SHAME TEHIR
1524 2 x gw,/4 X 5.399 = 9.8 m3




Masr—> 05K
NO.44-2iZE|ELIN T T 150
1/2
HhiEE TheEES ERET
1.3 i1 & 5580  — 1344 4+ 0353 4589 m
(JERZECoE )
SR ERES AsShEEE
2. & Bl F 4.589 + 1.000 — 0.190 5399 m
(EAEAHIFEIAT)
bl BANE
3.F A & 5399 +  0.200 5599 m
IR ERvIE BIRE
4. r— 45K | 4589 + 0300 —  0.089 4800 m
(10cmEi{3)
[ %EBEH—I24 300 m
{ hET— m
LU S8&7—2045 180 m
SBE—I VT A%k
FETNE 1500 1 &
5. 5—>04 | 1EFmLYSERES
BEI | L= x15054.7m 1 Em
6. r—oY I EFEE
5|EIFIT | L=0.90m 0.90 m
7. =08 r—I VTR
BWET | L=n x1.50FFUF)+1.411(3FE) X 4=10.4m 1 AT
29597 1.411m X 0.466t/m 0.658 t
8. [EhRavy)—-+
ITERT | 1A YFERE V=1.8m3 180 m®
9. 5hiK kspav o) —MTERES)
Bk T 1 E31
10. RS54 L (KERav 49— TERES)
WMET | 1BRRYLSE V=0Tm" 1 Eliil
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WEr—2 oK
NO.44-2ME|ZEI I+ T ¢1.50
2/2
1. BEWERE
BET 1 8]
12. AREIR
BHETL | MUE1500H 1 & A
13. AE IR
WAL | FUZE1500F 1 & Fr
14. =05
FIET | v=7/4x1500°x3.089— 71 /4 X 1.110° X (0.130+0.063)
— 71 /4 % 1.050° X (3.089-0.130-0.063)— 77 /4 X 0.216% X 0.225 X 2 275 md
15 E AR EE | n=(T1+T2+T3+T4+T5)/8(h)
-HERERK TI=#WEERERE= = 1.4
T2 =[f ABEMIE A BFEI=4EHIE X 1m 3 Y fE TR
= 0.600 X 0.9
+ 4.799 X 0.8 = 4.4
T3=h-YU) AR = AEER X 0.1
= 4.7 X 1 X 0.1 = 0.5
T4=|xK#1,))-MTREE=K&1,))-I= x 0.2
= 1.8 X 0.2 = 0.4
T5=h-Yu) 5| EIFBE=4-Y) 5| EIFR X 05
= 0.9 X 0.5 = 0.5
N LTS
n=3XT/8= 72 / 8 = 0.9 0 =]
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A — R

NO.44-3MFHET I+ T $2.00
] TREES ERET
1.3 i OF 5490 — 1084 + 0553 =| 4959 m
(Ef® CoE )
ST ERE AsSHEEE
2.1 Hl & 4959 + 1.000 — 0.190 =| 5769 m
(EAEEHIEAT) | BEL gt
0600 + 5169 =| 5769 m
.EBERLIT BEE
(BEW™) (1.50-0.87)
SR BERLE
£ {K 2024 %2 x w4 X 0.630 = 203 m°3
JET,Y: BERLE
Wik | 1050 2 x w4 X 0630 = 055 m°
£t 148 m° 15 mS
4. RS T
F45E SR TBHIE
2024 2 x w4 X 5.769 =| 186 m°
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s —o 5K
NO.44-3HFE ML T $2.00
1/2
g THREES EHRET
1.3 i R 5490 — 1084 + 0553 =| 4959 m
(ERECoET)
SR ERES AsSHEEE
2.1 Hl & 4959 + 1000 —  0.190 =| 5769 m
(EAEHIFEAT)
TEHIE BANE
3.F A & 5769 +  0.200 =| 5969 m
ST E#5y7 & IR
4. 57—V K| 4959 + 0300 —  0.059 =| 5200 m
(10cmEifir)
[ %EEY—24 300 m
U By —o04 2200 m
SRR — T A%
FEU £ 2000/ LB -
5 =25 IBEFRYYRBER
BET | L= X200%6.3m 1T E R
6. 54—y B LHEER
Bl|EFT | L=0.90m 0.90 m
7. 5= r—L U OIREE
WETL | L= x2.00(FfFUE)+1.441(FE) x 4=12.0m 1 &l
29597 1.441m%x0.615t/m 0.886 t
8. EkRavyy-+
ITERT | 1EFrYYERZ V=3.1m3 310 m°
9. 5hik OKFav s —MTERE)
Bk T 1 &3
10. RS54 L (kepas Y — T ERES)
MET | 1#AALYLSE V=12m° 1 B
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N s —o 5K
NO.44-3MFHET i+ T $2.00
2/2
1. BEWERE
BET 8]
12. ARZE IR
RETL FETN%20004 [l
13. AE IR
WET | HFUE2000A &
14. =04
FHET | v=7/4x2000*x3459— 71 /4 x1.110° X (0.130+0.263)
— 7T /4 % 1.050° X (3.459-0.130-0.263)— 71 /4 X 0.2162 X 0.475 X 2
m3
15.E AHEHBHEE | n=(T14+T2+T3+T4+T5)/8(h)
-BERERK T1=HW R ERERRE= = 1.4
T2 =T ABEMTEARFRE=HEEIE X 1m Y iE TR
= 0.600
+ 5.169 = 47
T3=h-VU BERE =B EER 0.2
= 6.3 x = 0.6
T4=]&fE19)-MTERER=IK#&1,9)-b= x0.2
T5=r-Yu9 5| EITRE="-Yv' 8| LIF K x0.7
INUE LU T 048
n=JXT,8= 7.8 = 0.9 =
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WMur— =K

NO.44-4mE|ZEint T ¢ 1.50
HhAE R ThEES ELRET
1.3 i1 & 5.520 — 0.794 + 0.353 =] 5079 m
(EfECoET)
SR E&E AsEHEEE
2. & Bl F 5.079 + 1.000 — 0.190 =| 5889 m
(EAEHIFEALD) | BEL Fhtet
0800 + 5.089 =| 5889 m
SEERLI R
(BER) (1.50-0.87)
MR BERLE
£ K 1524 2 x gw,/4 X 0.630 115 md
AFLoMR BERLE
wWwk-ME | 1050 2 x w4 x 0630 055 m°3
060 m? 0.6 mS
4. BrusT
F458 MR TEHIR
1524 %2 x w4 X 5.889 = 10.7 mS




Masr—> 05K
NO.44-ATHZE|ELITT T 150
1/2
HhiEE TheEES ERET
1.3 i1 & 5520 — 0794 +  0.353 5079 m
(JERZECoE )
SR ERES AsShEEE
2. & Bl F 5.079 + 1.000 — 0.190 5889 m
(EAEAHIFEIAT)
bl BANE
3.F A & 5889 +  0.200 6089 m
IR ERvIE BIRE
4. r— 45 K| 5079 + 0300 —  0.079 5300 m
(10cmEi{3)
[ %EBEH—I24 300 m
{ hET— m
U S8&7—204 230 m
SBE—I VT A%k
FETNE 1500 1 &
5. 5—>04 | 1EFmLYSERES
BEI | L= x15054.7m 1 Em
6. r—oY I EFEE
5|EIFIT | L=0.90m 0.90 m
7. =08 r—I VTR
BWET | L=7m x1.50(FFUF)+1.421(3FE) X 4=10.4m 1 AT
29597 1.411m X 0.466t/m 0.662 t
8. [EhRavy)—-+
ITERT | 1A YFERE V=1.8m3 180 m®
9. 5hiK kspav o) —MTERES)
Bk T 1 E31
10. RS54 L (KERav 49— TERES)
WMET | 1BRRYLSE V=0Tm" 1 Eliil
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WEr—2 oK
NO.44-4MEZEL T T ¢1.50
2/2
1. BEWERE
BET 1 8]
12. AREIR
BHETL | MUE1500H 1 & A
13. AE IR
WAL | FUZE1500F 1 & Fr
14. =05
FET | v=7/4x1500°x3.579— 71 /4% 1.110° X (0.130+0.063)
— 71 /4 % 1.050° X (3.579-0.130-0.063)— 71 /4 X 0.216% X 0.225 X 2 319 mé
15 E AR EE | n=(T1+T2+T3+T4+T5)/8(h)
-HERERK TI=#WEERERE= = 1.4
T2 =[f ABEMIE A BFEI=4EHIE X 1m 3 Y fE TR
= 0.800 X 0.9
+ 5.089 X 0.8 = 48
T3=h-YU) AR = AEER X 0.1
= 4.7 X 1 X 0.1 = 0.5
T4=|xK#1,))-MTREE=K&1,))-I= x 0.2
= 1.8 X 0.2 = 0.4
T5=h-Yu) 5| EIFBE=4-Y) 5| EIFR X 05
= 0.9 X 0.5 = 0.5
N LTS
n=XT /8= 76 / 8 = 0.9 0 =]
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WMEr—o IR

NO.49-2-1TRFEII T T $2.00
] TREES ERET
1.3 1 &F 5.620 — 0.534 + 0.553 =| 5639 m
(Ef® CoE )
ST ERE AsSHEEE
2. 18 Hl # 5639 + 1000 —  0.190 =| 6449 m
(EAEEHIEAT) | BEL gt
0800 + 5649 =| 6449 m
.EBERLIT BEE
(BE) (1.50-0.87)
SR BERLE
£ K 2024 %2 x w4 X 0.630 = 203 m°3
JET,Y: BERLE
Wik | 1050 2 x w4 x 0630 = 055 m°
it 148 m° 15 mS
4. FLXNHT
F45E SR TBHIE
2024 2 x w4 X 6.449 =| 208 m°
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s —o 5K
NO.49-2-1MFELI T T $2.00
1/2
g ThEES EHRET
1.3 i & 5.620 — 0.534 + 0.553 =| 5639 m
(ERECoET)
SR ERES AsSHEEE
2.1 Hl & 5.639 + 1.000 — 0.190 =| 6449 m
(EAEHIFEAT)
TEHIE BANE
3.F A & 6449 +  0.200 =| 6649 m
SR E#&597 R IR
4. 74— K| 5639 + 0300 —  0.039 =| 5900 m
(10cmEifir)
[ %EEY—24 300 m
U B#&y—o04 290 m
EEE— VT Ak
FEU £ 2000/ LB -
5 =25 IBEFRYYRBER
BET | L= X200%6.3m 1T E R
6. 54—y B LHEER
Bl|EFT | L=0.90m 0.90 m
7. 5= r—L U OIREE
WETL | L= x2.00(fFUE)+1.46108E) x4=12.1m 1 &l
259597 1.461m%x0.615t/m 0.899 t
8. EkRavyy-+
ITERT | 1EFrYYERZ V=3.1m3 310 m°
9. 5hik OKFav s —MTERE)
Bk T 1 &3
10. ATAM L (kehas o) —MTERE)
MET | 1#AALYLSE V=12m° 1 B
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My —2 R
NO.49-2-1TFE it T ¢ 2.00
2/2
1. BHEE
BWET (]
12. AEIR
RIET FEUME 2000/ k3
13. AREIR
AT | FFUZE2000MA & T
14. r—0%
FET | V=7/4x2000%%4.139— 71 /4% 1.110? X (0.60+0.130+0.263)
— 71 /4 % 1.050° X (4.139-0.600-0.130-0.263)
— /4% 02162 X 0.475 X 3—0.400 X 0.475 X 2.973 m®
BlE
15 E ABEMREE | n=(T14+T24+T34+T44+T5)/8(h)
-BEERK TI =W E R ERRE= = 1.4
T2 =[F AW ARFR=EHIE X 1m 3 Y e T 85
= 0800 X 0.9
+ 5649 X 0.8 = 5.2
T3="-VU) B IERRE =B EER 0.2
= 6.3 X 1 X 0.1 = 0.6
T4 =[EHIY)-MTREHE =E#&I19)-I= x0.2
= 3.1 X 0.2 = 0.6
T5=h-yu9 5| EIFBRE=7-V 95| EIF R x0.7
= 0.9 X 0.5 = 0.5
IN R LT EE
n=XT./8= 83 / 8 = 1.0 =]




No.49-3-1 WZIZE S HT (a0 7) - MU FE AR ¢ 1200)

fil Gl B & HAL MK &=

JEASRHIEDA T WE 1+ m 1.12

RhME 6.57
Ty JEtE L ¢ 1200 (L=1.5m)  f&pT 4
Wk — 27 (¢ 1200H) ¢ 1200X 1500 1 1

¢ 1200 X 1000 i 1
JERET 7Y —h (30-18-20) m3 1.60
PPRER B L [e] 1
BEABOBORE - P iE L U 2
H 1 (o 1200/) 1E 1
BB B ¢ 1200 X 1500 n 1
E o RE ¢ 1200 X 1800 ) 2

¢ 1200 X 1500 y 1
B oA ¢ 200 FHEL O 1R KRR I )
HRIAZ77 ¢ 1200 I 1
E RO $ 900 fi 1
L 39,0 [ g Ol ¢ 900 4 1
(LiEINe 900X 100 I 1
IR EE 1200 % 900 X 300 " 1
e Uit B P S LN LR E VA Y o 0.7
SEHUKER & T 1
AT A WIS m3 0.5
b2 EW (1, 25H) H 1
LT m3 0.01
B/ T I 11.57
RS E T H 20
GUED HiEE ¢ 200 & T 2

48



TFé No.49-3- 1 ZE L BT NE $ 1200 HiE 467 —3 1))

5 | " =X HAZ| %% iy
Hs BIER JERRET
AVAZIRYS 5590 — 0.394 +  1.650 = 6.846 | m = 6.846
SHUE + JERE - AsEHEE
LIRS 6.846 0.950 0.110 = 7.686 | m @ 7.686
g+ FhEPE £
1.120 6.566 — 7.686  m 7.686
Tay s BT ¢ 1200 L=1.5m /&5 N= 4.0 fEAT 4

(MMAF— e FEEEE P.7XY)

Wk —v o7 ¢ 1200X 1000 N= 1.0 f# 1
(¢ 1200/) | ¢ 1200 X 1500 N= 1.0 | f# 1

B 7Y —b V= 1.60  (MM7—/Liax FERE R P.9LY) = 1.60 m3  1.60
(30-18-20)

PP R B R L N= 1 = 1 [ 1

M M B B n=(T14+T2+T34T4)/8(h)

O OE A K TI=HMEERR R = = 26
T2 = T AFEAFEIA BRF =1 HI R X 1m 24 0 T RRF R
= 1.120 X 2.1
+ 6.566 X 1.7 = 135
| T3=F-y ) R = IR HIE R < 0.2
= 15 X 4 X 0.2 = 1.2
| T4= A7) -MT RN =tz /) - bR X 0.2
= L6 X 0.2 =03
_ AN LTS
n=3XT/8= 176 / 8 =22 2
H = ¢ 1404 X 1428 X 450 N= 1.0 & 1
(¢ 1200/)
gLoA H Ay EE ¢ 1200 X 1500 N= 1.0 f& 1
[EL BE ¢ 1200 X 1800 N= 2.0 | f# 2
¢ 1200 X 1500 N= 1.0 | f&
IS R R~ | ¢ 200 5L F 1K ER N= 2.0 | f# 2

B ox T T ¢ 12007 N= 1.0 | fi 1
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(e e B S S
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M B % T kR N= 1.0 = 1.0 X 1
(1, 2%5HMH)
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e =]
#gl‘gl}/%) nﬁzﬁzg
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o+ w4y L v= 11.573 —  0.007 = 11.566 | m3| 11.57
HEH HRLT
e B T N= 20.0 = 20.0 1A 20
EIEN B\ ¢ 200 £33 2
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40-1 49-2-1 44-3 41-1
44-2 44-1
44-4 49-2-1
43-2
1 &Fr 4 &R 1 &Fr 3 &FT EL
4 v N — b+ [0.14) (0.15) (0.15) (0.15)
avyy—+T 0.14 0.60 0.15 0.45 13 m
T )L 42 )L |(082) (0.74) (0.74) (0.78)
S B o 0.82 2.96 0.74 2.34 6.9 m
(0.97)
BAaE®RI 0.97 1.0 m
(0.06) (0.25) (0.25)
HFEIY)—+T 0.24 0.25 0.75 12 m
(0.22) (0.92) (0.92)
i i U 0.88 0.92 2.76 46 m
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90° HHE 1& 1 1 2
a4 —k (18N/mm’) m° 0.36 0.44 0.8
g e m’ 2.31 2.82 5.13
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n== = M = = Fke
F 3£ %R B S
i il i ¥ AL & 5
S T ASEE t=15cmBL F m 56.54
/i ASEFEE t=15cmZA#E 2 30cm A T m 68.17
AsBiliE ~N'yAk0.45m®
EEEREE t=10cm A F m’ 3.98
AsElidE AN'yrEv0.45m°
I t=10cm% 2 15cmPA m” 15.89
AsElidE AN'yrEv0.45m°
I t=15cm% A8 % 40cmBL T m’ 26.40
AsElidE AN'yrEv0.45m°
FRALSY T EER I RSA m’ 6.93
TEFAE IR T JE5E 8T m” 23.25
I 467! m” 13.89
I T3 357 m” 3.98
ESET e Fi s () 15emifa m 36.30
) FEHE (FR7) W=45¢cm m 2.00
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fTEIstEEZ
LT HEHEER (NO.19-2-1 FEIZEIL T ¢ 1500)
ASEEEE t=15cmLAF |7t X (1.5+0.1) = 5.03
HEAEER (NO.41-1 TEFEHEIT T ¢ 2000)
7T X (2.0+0.1) = 6.60

HEXEER (NO.49-3-1 W EI3ZE L 1 © 1200MM7AR—)L)

7T X (1.47+0.1) = 4.93
BRMAER(BTEREELY)
33.98 = 3398
ToR— LA (BRI HELY)
= 6.00
Bt = 5654 | 5654 m
ASEHZEE t=15cmZE#EZ 30cm LT
7T X (1.5+0.1) = 5.03
HEHEER (NO.44-1 T FEEE LT ¢ 2000)
7T %X (2.0+0.1) = 6.60
HEHEER (NO.44-2 [ E5ZE 3111 ¢ 1500)
7T X (1.5+0.1) = 5.03
HESEE SR (NO.44-3 7l FEHE 3T 1T b 2000)
7T X (2.0+0.1) = 6.60
HEHEER (NO.44-4 T EZE 11T ¢ 1500)
7T X (1.5+0.1) = 5.03
HESEE SR (NO.49-2-1 Wl F&HEIT 17 ¢ 2000)
7T X (2.0+0.1) = 6.60
RAER(BRTEREELY)
33.28 = 3328
&Et = 68.17 | 68.17 m
SHERRAERET RAER(BRTEREELY)
t=10emLA T 1.73 = 1.73
TUR—ILE N (BEMERIHELY)
= 2.25
Bt = 3.98 3.98 ]
HESE SR (NO.19-2-1 Fr &I T 17 ¢ 1500)
t=10cmZ#4 % 15cm L F | 7 /4 x (1.50+0.10)? = 2.01
HEAEER (NO.41-1 [ EZE 31 11 ¢ 2000)
7T /4 % (2.00+0.10)° = 3.46
HEHEER (NO.49-3-1 i EIZE L 1T O 1200MM7AAR—)L)
7T /4 % (1.47+0.10)° = 1.94
B+ EER (Bt E = LY)
8.48 = 8.48
=1 = 15.89 15.89 m
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HESE SR (NO.43-2 W RIE T ¢ 1500)
7T /4 % (1.50+0.10)° = 2.01
HESEE SR (NO.44—1 Tl FHE ST 1 ¢ 2000)
7T /4 % (2.00+0.10)° = 3.46
HESE SR (NO.44-2 T RIE LT ¢ 1500)
7T /4 % (1.50+0.10)° = 2.01
HEEEER (NO.44-3 Tl FEHEST 1 b 2000)
7T /4 % (2.00+0.10)° = 3.46
HESEER (NO.44-4 THEZE ST ¢ 1500)
7T /4 % (1.50+0.10)* = 2.01
HEAEER (NO.49-2-1 T FEHEIL I ¢ 2000)
7T /4 % (2.00+0.10)° = 3.46
B EER (R EHRELY)
9.99 = 9.99
=i = 26.40 | 26.40 m
ASERALSY T HESEER (NO.19-2-1 B EIZEIIHT ¢ 1500)
(EHEEAEITERA) | /4 x(1.50+0.10)* X 0.11 = 0.22
HEHEER (NO.41-1 M FEHEE LT ¢ 2000)
7T /4 % (2.00+0.10)* X 0.11 = 0.38
HEXEER (NO.49-3-1 M EI|ZE LI O 1200mm7A—)L)
7T /4 % (1.47+0.10)* X 0.11 = 0.21
HEXEER (NO.43-2 M EI5ZE 31 31 ¢ 1500)
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HEHEER (NO.44-1 T FEEE LT ¢ 2000)
7T /4 % (2.00+0.10)* X 0.19 = 0.66
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7T /4 % (1.50+0.10)% X 0.19 = 0.38
HEHEER (NO.44-3 T FE L 1T ¢ 2000)
7T /4 % (2.00+0.10)* X 0.19 = 0.66
HESE R (NO .44-4 THEZE ST ¢ 1500)
7T /4 % (1.50+0.10)* X 0.19 = 0.38
HEAEER (NO.49-2-1 T FEHEIL I ¢ 2000)
7T /4 % (2.00+0.10)* X 0.19 = 0.66
B EER (R EHRELY)
2.89 = 2.89
TUR—ILE (B IHELY)
= 0.11
&it = 6.93 6.93 m°
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